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Title: Glycolysis


                    Period: ___ Seat:__
    
Glycolysis
Metabolic pathway that breaks down 6 carbon glucose into two 3 carbon pyruvate molecules in 10 steps (reactions)
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Expected               -10 reactions…..Glucose converted to pyruvate

Outcomes
_______________
   4 ATP produced (2 net ATP)
  2 NADH produced

__________________________________________________
__________________________________________________
1st Half of            aka The Investment Phase

    Glycolysis          - _______________________________ (using 2 ATP)
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Has glucose been oxidized or reduced?






- Rearrangement of Glucose



- Slitting of Glucose
2nd Half of           aka Energy Payoff Phase

    Glycolysis 
-2 NADH are produced


- 4 ATP are produced 




________________________

__________________________________________














X 2

Phophofructo-      ___________________ that controls the rate of glycolysis and the Krebs Cycle

  kinase                Feedback inhibition…

ATP and Citrate inhibit it 

AMP Stimulates it

Summary  

